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Mohit.. 1 day ago

Thank-you Madam for this very Amazing Class Session of today's.., , ‘=
And

My Answers for today's Homework are like-

1). l'and Il both together are sufficient. .

Read more

@5 GP  REPLY

raflig
w (=)« 1 REPLY

Nadeem 1 day ago (edited)

(@) Homework Answers i
() Data Sufficiency &
@ Ans - If the Statement 1st And 2nd are Sufficient to answer the Question

Read more

@5 GP  REPLY

oy
v (=)« 1 REPLY

debasish chakraborty 1 day ago

Homework :

1. YWXVZ 1 and 2 sufficient
2.

JAN-T.

Read more

@b GP  REPLY

Cag
v (%)« 1 REPLY

#

Rahul Bhakat 5 hours ago
1 & 2 together sufficient!

d5 GP  REPLY

Rahul Bhakat 5 hours ago (edited)

Humse tough question nahi baan rha! &

@5 &P  REPLY

panvi kumari 20 hours ago
Home work 1) YWXVZ 18&2 sufficient

5 &P  REPLY

i
v (=« 1 REPLY

Shubham jatwa 22 hours ago

Inside - QNPO
OUTISE- WRMT
SEQUENCE - RIGHT OF P - TNROMQW

2) jan-T, feb-0 , may -M,

MAY-M, AUGUST -Q,DEC-R,JULY-N,FEB-O,NOV-W,OCT-BJAN-T

5 GF  REPLY

Fai
v (=« 1 REPLY
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Eight persons are seating around a square table such a way
that four of them sit at four corners of the square while four
sits in the middle of each of the four sides. The persons who
sit at the corner sides of the table are facing towards the
center while the persons who sit at middle side of the table
are facing outside from the center. They were born in
different months of the same year i.e., January, February,
May, July, August, October, November and December but not
necessarily in the same order.

Three persons were born between R and N. Only two
persons were born before M. Q was born after the month of
August in the month which has 31 days and sits opposite to
N. Both R and Q are not an immediate neighbor. P was born
before Q but not the eldest among all. P sits immediate left of
W but not sit at the middle side of the table. One person sits
between T and W, when counted to the right of T. T was born
before W. O was born in the month which has least number
of days and sits 3rd to the left of T. The one who was born in
the month which has 30 days is neither an immediate
neighbor of T nor the one who was born in February. R was
born just after the month of November and immediate
neighbor of O but doesn’t sit opposite to T.
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Eight persons are seating around a square table such a
way that four of them sit at four corners of the square
while four sits in the middle of each of the four sides. The
persons who sit at the corner sides of the table are facing
towards the center while the persons who sit at middle
side of the table are facing outside from the center. They
were born in different months of the same year i.e.,
January, February, May, July, August, October, November
and December but not necessarily in the same order.
Three persons were born between R and N. Only two
persons were born before M. Q was born after the month
of August in the month which has 31 days and sits
opposite to N. Both R and Q are not an immediate
neighbor. P was born before Q but not the eldest among
all. P sits immediate left of W but not sit at the middle side
of the table. One person sits between T and W, when
counted to the right of T. T was born before W. O was born
in the month which has least number of days and sits 3rd
to the left of T. The one who was born in the month which
has 30 days is neither an immediate neighbor of T nor the
one who was born in February. R was born just after the
month of November and immediate neighbor of O but
doesn’t sit oppositeto T.
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How many persons were born between M and R?
Q, October 0,February (a) Five

—F (b) Four

(c) Six
W, November €= R, December (d) Three

M,May

(e) Two

P,August T, january N,July Who among the following sits opposite to the one
’ Y who was born in February?

T
T 0O M N P Q W R (a) |
Jan>Feb>May>July>Aug>0ct>Nov>Dec gb)) 'Fl;he one who was born in October
C

(d) The one who was born in August
(e) None of these

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following
does not belong to that group?

(a) The one who was born in July

(b) Q

(c) W

(d) The one who was born in August

(e) O
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Q October  "May 0,February Which of the following statement is true as per the given

5 T information?

(a) N sits 2nd to the left of O
W, November €= R, December (b) W faces outside

(c) Both Q and M are an immediate neighbor

;7' ‘L (d) R was the youngest among all

PAugust N,July (e) All are true
, January

T 0O M N P Q W R

Jan>Feb>May>July>Aug>0ct>Nov>Dec If Ois related to P, M is related to T in the same way W is
related to which of the following one?

@R

(b) P

(c)O

(d) The one who was born in July

(e) None of these
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In certain coding language, the directions are coded as per below conditions.
A@B means — A is North of B

A%B means — A is South of B

A#B means — A is East of B

A$B means — A is West of B

Example: A @ 14 B means A is north of B and the distance between A and B is 14m.
Condition: D#100C, E%120D, H#130E, A$120B, C@80B, G@150H, K@ 100F, K$70G
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70m What is the total distance from Point C to Point H?
K G (a) 250m
c 100m (b) 350m
D 100m
S0m 150m (c) 330m
. (d) 300m
B 120m (e) 220m
120m
E  130m H

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following does
not belong to that group?

(a) A-C

(b) E-H

(c) B-D

(d) F-G

(e) D-K

What is the direction of Point G with respect to Point E?
(a) North-east

(b) South-east

(c) North-west

(d) South-west

(e) North



http://www.mahendras.org/

Six Couplesi.e.A,B,C,D,E,FFP,Q,R,S, T and
U get married in three different months viz. April,
August and October, but not necessarily in the
same order. They get married on 2 different
dates viz. 5 and 28. Each of the six couple get
married on six different dates.

There are three couples get married between F’s
husband and Q’s Wife. R get married before Q. C
was married with T on an even numbered date.
There are two couples get married between E’s
husband and B’s wife. E’s husband get married
before B’s wife. T was not a male. D is the
husband of S. The number of couples get
married after S is same as the number of couples
get married before U’s husband. E’s husband get
married before P and after A.
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Six Couplesi.e.A,B,C,D,E,FFP,Q,R,S, T
and U get married in three different months viz.
April, August and October, but not necessarily
In the same order. They get married on 2
different dates viz. 5 and 28. Each of the six
couple get married on six different dates.
There are three couples get married between
F’s husband and Q’s Wife. R get married before
Q. C was married with T on an even numbered
date. There are two couples get married
between E’s husband and B’s wife. E’s
husband get married before B’s wife. T was not
a male. D is the husband of S. The number of
couples get married after S is same as the
number of couples get married before U’s
husband. E’s husband get married before P
and after A.
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-

Months | Dates I Husband Wife (I:'I;))V'l\{wnc])any couples get married before R’s wife?
April > A 3 (b) Four
28 D S (c) Three
August 5 R E (d) Five
28 c T (e) None
October 5 Q U
28 B P
Who among the following get married on 5th October?
(a) Q
(b) B

(c) U’s husband
(d) Either (a) or (c)
(e) Both (a) and (c)
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Qll. On which date of the month did Harsh celebrated his Birthday?
I. Harsh correctly remembers that he celebrated his birthday on an even numbered date of the month.
Il. Harsh’s friend correctly remembers that he celebrated his birthday after 26th but before 30th of the
month.

Y 9 71 &1 fog aig &1 =T S=Afe {917 U172

1.3Y #1 S A 1 8 f6 I 3uAT S=afes 7811 &1 U IH =T dreil dRIG 61 H914T AT

%%ﬁaﬁ%ﬁm%%wﬁmwﬁqzam%mwwﬁﬁwmﬁ
AT AT

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is not
required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is not

required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q12. How many marks did Saurabh scores in the hundred marks exam?
I. Saurabh scored two digits marks and his marks was completely divisible by 19.
Il. Saurabh scored more than sixty percent but less than ninety percent of total marks

I 3Pl Bl T & IR A fFaq 3 ure fre
?ﬁwﬁa’rm%wm%mwwﬁqﬁ a_e AusT 31
IRY = 918 ufara 9 siftre $d 3Dl & o Yfad d $H 3 Urd foe

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il
is not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement

| is not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the

question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q13. Who among J, K, L, M and N is the shortest?
I. Jis shorter than K. M and N are not shorter than K.
Il. Lis shorter than K.

LK L M3 NT Y I9d BieT B 82
1.J, KA DICT2I M3 N, KA Bl A8 2|
2.L, K9 BT g

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is
not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is

not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Five friends K, L, M, N and O earn different salaries. N earns less than K and L. M earns less than
only one person. O earns more than only two persons. K earns 2 lakhs and is not the highest.

Qid SRA K, L, M, N 3% 0 3[A-3E T add FHTA 21 N, K 3R LY $H HHAI 21 M pdd
US Afd A $H HATAT 2| 0 Fad &l AfTal § 3P AT 21 K 2 AR HHTAT 8 3R

ST 61 §

Q14. What could be the salary of O?
(a) 1 lakhs (b) 1.5 lakhs (c) 1.75 lakhs (d) 2.5 lakhs (e) Less

than one lakhs

Q15. Who among the following earns lowest salary? (a) K
(b) L (c) O (d) N (e) None of the above
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Q16. Q17.

Statements: Statements:
W=>I>8S=D>0<M<F C>A<K<E=T<]=N
Conclusions: Conclusions:

L.D<W . N <K

[11.0<1 [I.A<]

(a) If only conclusion I follows. (a) If only conclusion I follows.

(b) If only conclusion II follows. (b) If only conclusion 11 follows.

(c) If either conclusion I or II follows. (c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows. (d) If neither conclusion I nor II follows.
(e) If both conclusions [ and 11 follow. (e) If both conclusions I and II follow.

-
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Q18.

Statements:
P<Q<S=T<]<R>L
Conclusions:

.J=P

I. T<L

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or Il follows.

(e) If both conclusions I and II follow.

(d) If neither conclusion I nor II follows.

Q109.

Statements:
K<I=TE<REZ>Y=2W
Conclusions:

I.Z>K

ILR>W

(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(c) If either conclusion I or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions I and Il follow.
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Q20.
Statements:
T>0=2BzA=C=X>Q
Conclusions:
[. X0
[.LO=C
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Point A is 16m to the East of Point B. Point D is 6m to the South of Point B. Point E is 4m to the North of Point
A. Point C lies exactlébetween Point A and Point B. Point G is 8m to the East of Point D

fige® e @ & He ez e & IR 4 Hiex
%éﬁg:aﬁvﬁﬁgl%mm %l%ls ggr&ﬂﬁsﬁﬂagv%?gmﬁz A%q%m 4T

Q21. In which direction is Point G with respect to Point E?
(a) North (b) Northeast (c) South (d) Southwest (e) Cannot
be determined

Q22. What is the shortest distance between Point G and
Point A? (a) 8m (b) 9m (c) 10m (d) 12m (e) None of these

Q23. If Point H is 8m to the West of Point E, then how far is
Point H from Point G? (a) 4m (b) 8m (c) 10m (d) 12m (e)
None of these
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In a family of seven members there are four female members. H is the mother of J. E is sister-in-law of H. L is
the only brother of E. M is the father of L. K is sister of J. N is mother-in-law of H.

ATd JeH| & Uh URAR & IR AfeT GG &1 H, ) PI AT 21 E, H P RIRCI-ZA-AT 21 L, E BT Shelidl
Y 81 M, LBTTUdT 81 K, ) P 98181 N, H B! 19 B

Q24. How is J related to E? (a) Niece (b) Nephew
(c) Sister (d) Brother (e) Either (a) or (b)

Q25. How is N related to K? (a) Aunt (b) Mother
(c) Grandmother (d) Daughter (e) Cannot be
determined

Q26. How is M related to H? (a) Uncle (b) Father
(c) Brother (d) Father-in-law (e) None of these
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Q27. If “summer is hot” is coded as “mo ka pa”, “may is summer” is coded as “ti ka mo”,
then “hot may” will be coded as?

gfe "gHR g1 gl Bl "Hl BT U & 7Y § his fHar 91 g, "H 5o JHR" &l "
mn‘r"%g?ﬁs%mw%,ﬁ"ﬁzﬁ"aﬁwaﬁsmﬁrﬂm

(a) ka mo (b) mo ti (c) pa ka (d) ti pa (e) Cannot be determined
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Q28. How many pairs of letters are there in the word” WINTER” which have as
many letters between them in the word as in alphabetical series?

%IE{“mmm&%ﬁfl&[ﬁ%ﬁ@f%ﬁgm?ﬁﬂ%‘qﬁﬂtﬁﬁﬁ&r&-r“\f%'ﬁrl?ler

(a) One (b) Two (c) Three (d) Four (e) None of these
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Q29. If all the alphabets are rearranged within itself as they appear in the English dictionary
in the word “TELEPHONIC” then which of the following will be third to the left of eighth

from the left end?

gfe TGl e hI A "TELEPHONIC" Weg T T 31&R 3= 3Ty H FIfRUd 8l ¥d §,
oI FgferiRad § @ &9 910 SR ¥ 313d & 918 | <RI g2

(a) H (b) I (c) L (d) N (e) None of these
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Q30. Find the odd one out?
(a)ACE

(b) FHJ

(c) KMO

(d) PQT

(e) UWY
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